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Thém bdi s6 ciia muoi

Ho va Tén: Loi gifli

Giai cac cau hoi.

1)

2)

3)

4)

)

6)

7)

8)

9

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

52+30=

82

34+ 60 =

94

26 +20=

46

20+30=

10+ 80 =

29+ 10=

54+ 40 =

47+20 =

52+20=

10 + 60 =

19+ 60 =

35+20=

15+80=

17+ 80 =

16 + 60 =

21 +50=

13+70=

24 +70 =

47 +50 =

12+10=

50

90

39

94

67

72

70

79

55

95

97

76

71

83

94

97

22

Cau tra loi

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

82

94

46

50

90

39

94

67

72

70

79

35

95

97

76

71

83

94

97

22

[ Toan HQC ] vn.CommonCoreSheets.com

1-10
11-20

95

90

85

80

75

70

65

60

45

40

35

30

25

20

15

10




JL_

Thém bdi sb cua muoi Ho va Tén:
Giai cac cau hoi. Cau tra loi
94 79 55 39
46 67 72 90 1.
50 94 82 70
2.
D 52+30=
3
2) 34+60= 4.
5.
3) 26+20=
6.
9 20+30= 7.
8.
5) 10+ 80=
9,
6) 29+ 10= 10.
11.
7 54+40=
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10) 10+60=
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